

Available online at www.sciencedirect.com



Chaos, Solitons and Fractals 24 (2005) 383-390

CHAOS SOLITONS & FRACTALS

www.elsevier.com/locate/chaos

Multiple structures of two-dimensional nonlinear Rossby wave

Zuntao Fu^{a,b,*}, Shikuo Liu^a, Shida Liu^{a,b}

^a School of Physics, Laboratory for Severe Storm and Flood Disaster, Peking University, Beijing 100871, China ^b State Key Laboratory for Turbulence and Complex System, Peking University, Beijing 100871, China

Accepted 15 September 2004

Communicated by Prof. M. Wadati

Abstract

In this paper, the elliptic equation is taken as a transformation and applied to solve the Zakharov–Kuznetsov equation, which has been derived by Gottwald as a two-dimensional model for nonlinear Rossby waves. It is shown that more kinds of solutions are derived, such as periodic solutions of rational form, periodic solutions and so on. © 2004 Elsevier Ltd. All rights reserved.

1. Introduction

Gottwald derived the nonlinear dispersive Zakharov–Kuznetsov equation from the quasigeostrophic barotropic vorticity equation [1], where weakly nonlinear and long wave multiple scale analysis were applied to two dimensions and derived the Zakharov–Kuznetsov (ZK for short) equation for nonlinear Rossby waves. In contrast to the Kadometsev– Petviashvilli (KP for short) equation, the ZK equation is first derived in a geophysical fluid dynamics context. At the same time, the ZK equation supports stable lump solitary waves [2], which makes the ZK equation a very attractive model equation for the study of vortices in geophysical flows. Actually, there are more multiple structures in the ZK equations, we will show next. All these studies may help to describe two-dimensional coherent structures such as atmospheric blocking events, long lived eddies in the ocean or coherent structures in the Jovian atmosphere such as the Great Red Spot.

We have taken elliptic equation as an intermediate transformation to solve nonlinear wave equations [3–5], and obtained many periodic solutions and solitary wave solutions. However, there are still more research needed to do in order to find more solutions of different forms. In the reference [6], we derived periodic solutions of rational forms, which are due to external forcing. In this paper, the elliptic equation is taken as a transformation and applied to solve the ZK equation to multiple structures of two-dimensional nonlinear Rossby waves.

^{*} Corresponding author. Tel.: +86 01062767184; fax: +86 01062751615. *E-mail address:* fuzt@pku.edu.cn (Z. Fu).

^{0960-0779/\$ -} see front matter @ 2004 Elsevier Ltd. All rights reserved. doi:10.1016/j.chaos.2004.09.043

2. Multiple structures of two-dimensional nonlinear Rossby waves

ZK equation [1] reads

$$u_t + \delta u_x + \alpha u u_x + \beta u_{xxx} + \gamma u_{xyy} = 0 \tag{1}$$

which was derived by Gottwald from the quasigeostrophic vorticity equation as a two-dimensional model for nonlinear Rossby waves.

We seek its travelling wave solutions in the following frame

$$u = u(\xi), \quad \xi = kx + ly - \omega t \tag{2}$$

here ω is angular frequency, k and l are wave number in x and y direction, respectively.

Substituting Eq. (2) into Eq. (1) and integrating once yield

$$-(\omega - \delta k)u + \frac{\alpha k}{2}u^2 + (\beta k^3 + \gamma k l^2)u'' = C$$
(3)

where C is an integration constant. And then we suppose Eq. (3) has the following solution

$$u = u(z) = \sum_{j=0}^{j-n} b_j z^j, \quad z = z(\xi), \quad b_n \neq 0$$
(4)

where z satisfies the elliptic equation [7]

$$z'^{2} = \sum_{i=0}^{i=4} a_{i} z^{i}, \quad a_{4} \neq 0$$
(5)

where $z' = \frac{dz}{d\xi}$, then

$$z'' = \frac{a_1}{2} + a_2 z + \frac{3a_3}{2} z^2 + 2a_4 z^3 \tag{6}$$

Obviously, two special cases of (5) are

$$\frac{\mathrm{d}z}{\mathrm{d}\xi} = b + z^2 \tag{7}$$

and

$$\frac{\mathrm{d}z}{\mathrm{d}\xi} = R(1+\mu z^2) \tag{8}$$

which were introduced by Fan [8] and Yan et al. [9], respectively.

There n in the Eq. (4) can be determined by the partial balance between the highest order derivative terms and the highest degree nonlinear term in the Eq. (3). Here we know that the degree of u is

$$\mathcal{O}(u) = \mathcal{O}(z^n) = n \tag{9}$$

and from (5) and (6), one has

$$O(z^2) = O(z^4) = 4, \quad O(z'') = O(z^3) = 3$$
(10)

and actually one can have

$$\mathbf{O}(z^{(d)}) = d + 1 \tag{11}$$

So one has

$$O(u) = n, \quad O(u') = n+1, \quad O(u'') = n+2, \quad O(u^{(d)}) = n+d$$
(12)

For ZK equation (1), we have n = 2, so the ansatz solution of (4) can be rewritten as

$$u = b_0 + b_1 z + b_2 z^2, \quad b_2 \neq 0 \tag{13}$$

then

$$u^{2} = b_{0}^{2} + 2b_{0}b_{1}z + (2b_{0}b_{2} + b_{1}^{2})z^{2} + 2b_{1}b_{2}z^{3} + b_{2}^{2}z^{4}$$
(14)

Z. Fu et al. | Chaos, Solitons and Fractals 24 (2005) 383–390

$$u'' = \left(\frac{1}{2}a_1b_1 + 2a_0b_2\right) + (a_2b_1 + 3a_1b_2)z + \left(\frac{3}{2}a_3b_1 + 4a_2b_2\right)z^2 + (2a_4b_1 + 5a_3b_2)z^3 + 6a_4b_2z^4$$
(15)

Substituting Eqs. ((13)–(15)) into Eq. (3) and collecting each order of z yield algebraic equations about coefficients $b_j (j = 0, 1, 2)$ and $a_j (i = 0, 1, 2, 3, 4)$, i.e.

$$-(\omega - \delta k)b_0 + \frac{\alpha k}{2}b_0^2 + (\beta k^3 + \gamma k l^2)\left(\frac{1}{2}a_1b_1 + 2a_0b_2\right) - C = 0$$
(16a)

$$-(\omega - \delta k)b_1 + \alpha k b_0 b_1 + (\beta k^3 + \gamma k l^2)(a_2 b_1 + 3a_1 b_2) = 0$$
(16b)

$$-(\omega - \delta k)b_2 + \frac{\alpha k}{2}(2b_0b_2 + b_1^2) + (\beta k^3 + \gamma k l^2)\left(\frac{3}{2}a_3b_1 + 4a_2b_2\right) = 0$$
(16c)

$$\alpha k b_1 b_2 + (\beta k^3 + \gamma k l^2) (2a_4 b_1 + 5a_3 b_2) = 0 \tag{16d}$$

$$\frac{\alpha k}{2}b_2^2 + 6(\beta k^3 + \gamma k l^2)a_4b_2 = 0 \tag{16e}$$

from which we have

$$b_{2} = -\frac{12(\beta k^{2} + \gamma l^{2})}{\alpha}a_{4}, \quad b_{1} = -\frac{(6\beta k^{2} + \gamma l^{2})}{\alpha}a_{3},$$

$$b_{0} = \frac{\omega - \delta k}{\alpha k} - \frac{4(\beta k^{2} + \gamma l^{2})}{\alpha}a_{2} + \frac{3(\beta k^{2} + \gamma l^{2})a_{3}^{2}}{4\alpha a_{4}}$$
(17)

at the same time there is

$$a_1 = \frac{a_3}{2a_4} \left(a_2 - \frac{a_3^2}{4a_4} \right) \tag{18}$$

So if $a_3 = 0$, then

$$b_1 = a_1 = 0, \quad b_2 = -\frac{12(\beta k^2 + \gamma l^2)}{\alpha}a_4, \quad b_0 = \frac{\omega - \delta k}{\alpha k} - \frac{4(\beta k^2 + \gamma l^2)}{\alpha}a_2$$
(19)

and the transformation (5) takes the following form

14 1

$$z^{\prime 2} = a_0 + a_2 z^2 + a_4 z^4 \tag{20}$$

which has many kinds of solutions, next we will show some solutions of rational forms expressed in terms of different elliptic functions [7].

(1) If $a_0 = (1-m^2)/4$, $a_2 = (1+m^2)/2$ and $a_4 = (1-m^2)/4$ (where $0 \le m \le 1$, is called modulus of Jacobi elliptic functions, see [7,10–12]), then the solutions to Eq. (20) are

$$z_1 = \frac{\operatorname{cn}(\xi, m)}{1 + \operatorname{sn}(\xi, m)} \tag{21}$$

where $sn(\xi,m)$ and $cn(\xi,m)$ are Jacobi elliptic sine and cosine function, respectively,(see [7,10–12]) and

$$z_2 = \frac{\operatorname{cn}(\zeta, m)}{1 - \operatorname{sn}(\zeta, m)} \tag{22}$$

These are two new solutions to Eq. (20) which are not shown in references [3–5]. So based on the above results, we can derive new solutions to Eq. (1)

$$u_1 = b_0 + b_2 z^2 = \frac{\omega - \delta k}{\alpha k} - \frac{2(\beta k^2 + \gamma l^2)}{\alpha} (1 + m^2) - \frac{3(\beta k^2 + \gamma l^2)(1 - m^2) \operatorname{cn}^2(\xi, m)}{\alpha [1 + \operatorname{sn}(\xi, m)]^2}$$
(23)

and

$$u_{2} = b_{0} + b_{2}z^{2} = \frac{\omega - \delta k}{\alpha k} - \frac{2(\beta k^{2} + \gamma l^{2})}{\alpha}(1 + m^{2}) - \frac{3(\beta k^{2} + \gamma l^{2})(1 - m^{2})\mathrm{cn}^{2}(\xi, m)}{\alpha [1 - \mathrm{sn}(\xi, m)]^{2}}$$
(24)

(2) If
$$a_0 = -(1-m^2)/4$$
, $a_2 = (1+m^2)/2$ and $a_4 = -(1-m^2)/4$, then the solutions to Eq. (20) are
 $z_3 = \frac{\mathrm{dn}(\xi, m)}{1 + m\mathrm{sn}(\xi, m)}$
(25)

and

$$z_4 = \frac{\mathrm{dn}(\xi, m)}{1 - m\mathrm{sn}(\xi, m)} \tag{26}$$

where $dn(\xi, m)$ is Jacobi elliptic function of the third kind (see [7,10–12]) and new solutions to Eq. (1) are

$$u_{3} = b_{0} + b_{2}z^{2} = \frac{\omega - \delta k}{\alpha k} - \frac{2(\beta k^{2} + \gamma l^{2})}{\alpha}(1 + m^{2}) + \frac{3(\beta k^{2} + \gamma l^{2})(1 - m^{2})\mathrm{dn}^{2}(\xi, m)}{\alpha [1 + m\mathrm{sn}(\xi, m)]^{2}}$$
(27)

and

$$u_4 = b_0 + b_2 z^2 = \frac{\omega - \delta k}{\alpha k} - \frac{2(\beta k^2 + \gamma l^2)}{\alpha} (1 + m^2) + \frac{3(\beta k^2 + \gamma l^2)(1 - m^2) \mathrm{dn}^2(\xi, m)}{\alpha [1 - m\mathrm{sn}(\xi, m)]^2}$$
(28)

(3) If $a_0 = m^2/4$, $a_2 = -(2-m^2)/2$ and $a_4 = m^2/4$, then the solutions to Eq. (20) are

$$z_5 = \frac{m \operatorname{sn}(\xi, m)}{1 + \operatorname{dn}(\xi, m)} \tag{29}$$

and

$$z_6 = \frac{m \operatorname{sn}(\xi, m)}{1 - \operatorname{dn}(\xi, m)} \tag{30}$$

and new solutions to Eq. (1) are

$$u_{5} = b_{0} + b_{2}z^{2} = \frac{\omega - \delta k}{\alpha k} + \frac{2(\beta k^{2} + \gamma l^{2})}{\alpha}(2 - m^{2}) - \frac{3(\beta k^{2} + \gamma l^{2})m^{4}\mathrm{sn}^{2}(\xi, m)}{\alpha[1 + \mathrm{dn}(\xi, m)]^{2}}$$
(31)

and

$$u_{6} = b_{0} + b_{2}z^{2} = \frac{\omega - \delta k}{\alpha k} + \frac{2(\beta k^{2} + \gamma l^{2})}{\alpha}(2 - m^{2}) - \frac{3(\beta k^{2} + \gamma l^{2})m^{4}\mathrm{sn}^{2}(\xi, m)}{\alpha[1 - \mathrm{dn}(\xi, m)]^{2}}$$
(32)

It is known that when $m \to 1$, $\operatorname{sn}(\xi, m) \to \operatorname{tanh}\xi$, $\operatorname{cn}(\xi, m) \to \operatorname{sech}\xi$, $\operatorname{dn}(\xi, m) \to \operatorname{sech}\xi$, so new solutions to Eq. (1) are

$$u_{5'} = b_0 + b_2 z^2 = \frac{\omega - \delta k}{\alpha k} + \frac{2(\beta k^2 + \gamma l^2)}{\alpha} - \frac{3(\beta k^2 + \gamma l^2) \tanh^2(\xi)}{\alpha [1 + \operatorname{sech}(\xi)]^2}$$
(33)

and

$$u_{6'} = b_0 + b_2 z^2 = \frac{\omega - \delta k}{\alpha k} + \frac{2(\beta k^2 + \gamma l^2)}{\alpha} - \frac{3(\beta k^2 + \gamma l^2) \tanh^2(\xi)}{\alpha [1 - \operatorname{sech}(\xi)]^2}$$
(34)

(4) If $a_0 = 1/4$, $a_2 = (1-2m^2)/2$ and $a_4 = 1/4$, then the solutions to Eq. (20) are

$$z_7 = \frac{\operatorname{sn}(\xi, m)}{1 + \operatorname{cn}(\xi, m)} \tag{35}$$

and

$$z_8 = \frac{\operatorname{sn}(\xi, m)}{1 - \operatorname{cn}(\xi, m)} \tag{36}$$

and new solutions to Eq. (1) are

$$u_{7} = b_{0} + b_{2}z^{2} = \frac{\omega - \delta k}{\alpha k} - \frac{2(\beta k^{2} + \gamma l^{2})}{\alpha}(1 - 2m^{2}) - \frac{3(\beta k^{2} + \gamma l^{2})\operatorname{sn}^{2}(\xi, m)}{\alpha[1 + \operatorname{cn}(\xi, m)]^{2}}$$
(37)

and

$$u_{8} = b_{0} + b_{2}z^{2} = \frac{\omega - \delta k}{\alpha k} - \frac{2(\beta k^{2} + \gamma l^{2})}{\alpha} (1 - 2m^{2}) - \frac{3(\beta k^{2} + \gamma l^{2})\operatorname{sn}^{2}(\xi, m)}{\alpha [1 - \operatorname{cn}(\xi, m)]^{2}}$$
(38)

Similarly, when $m \to 1$, the solutions u_7 and u_8 reduce to solutions $u_{5'}$ and $u_{6'}$.

(5) If $a_0 = 1/4$, $a_2 = -(2-m^2)/2$ and $a_4 = m^4/4$, then the solutions to Eq. (20) are

$$z_9 = \frac{\operatorname{sn}(\xi, m)}{1 + \operatorname{dn}(\xi, m)} \tag{39}$$

and

$$z_{10} = \frac{\mathrm{sn}(\xi, m)}{1 - \mathrm{dn}(\xi, m)}$$
(40)

and new solutions to Eq. (1) are

$$u_{9} = b_{0} + b_{2}z^{2} = \frac{\omega - \delta k}{\alpha k} + \frac{2(\beta k^{2} + \gamma l^{2})}{\alpha}(2 - m^{2}) - \frac{3(\beta k^{2} + \gamma l^{2})m^{4}\mathrm{sn}^{2}(\xi, m)}{\alpha[1 + \mathrm{dn}(\xi, m)]^{2}}$$
(41)

and

$$u_{10} = b_0 + b_2 z^2 = \frac{\omega - \delta k}{\alpha k} + \frac{2(\beta k^2 + \gamma l^2)}{\alpha} (2 - m^2) - \frac{3(\beta k^2 + \gamma l^2) m^4 \mathrm{sn}^2(\xi, m)}{\alpha [1 - \mathrm{dn}(\xi, m)]^2}$$
(42)

which are the same as (31) and (32) respectively.

Remark 1. The above ten solutions to Eq. (20) i.e. z_1 , z_2 , z_3 , z_4 , z_5 , z_6 , z_7 , z_8 , z_9 and z_{10} , are first applied to present the exact solutions to the nonlinear wave equations. The above twelve solutions to Eq. (1) are first reported here to our knowledge.

Apart from the above rational form solutions expressed in terms of different elliptic functions [7], there are many more kinds of solutions expressed in terms of different elliptic functions [7] directly, for there are more other kinds of solutions to Eq. (20). For example,

(11) If $a_0 = 1$, $a_2 = -(1 + m^2)$ and $a_4 = m^2$ (where $0 \le m \le 1$, is called modulus of Jacobi elliptic functions, see [10,7,11,12]), then the solution is

$$z_{11} = \operatorname{sn}(\xi, m) \tag{43}$$

and

$$u_{11} = b_0 + b_2 z^2 = \frac{\omega - \delta k}{\alpha k} + \frac{4(\beta k^2 + \gamma l^2)(1 + m^2)}{\alpha} - \frac{12(\beta k^2 + \gamma l^2)m^2 \mathrm{sn}^2(\xi, m)}{\alpha}$$
(44)

(12) If
$$a_0 = m^2 - 1$$
, $a_2 = 2m^2 - 1$ and $a_4 = -m^2$, then the solution is
 $z_{12} = \operatorname{cn}(\xi, m)$
(45)

and

$$u_{12} = b_0 + b_2 z^2 = \frac{\omega - \delta k}{\alpha k} + \frac{4(\beta k^2 + \gamma l^2)(1 - 2m^2)}{\alpha} + \frac{12(\beta k^2 + \gamma l^2)m^2 \mathrm{cn}^2(\xi, m)}{\alpha}$$
(46)

(13) If
$$a_0 = 1 - m^2$$
, $a_2 = 2 - m^2$ and $a_4 = -1$, then the solution is
 $z_{13} = dn(\xi, m)$
(47)

and

$$u_{13} = b_0 + b_2 z^2 = \frac{\omega - \delta k}{\alpha k} - \frac{4(\beta k^2 + \gamma l^2)(2 - m^2)}{\alpha} + \frac{12(\beta k^2 + \gamma l^2) \mathrm{dn}^2(\xi, m)}{\alpha}$$
(48)

(14) If
$$a_0 = m^2$$
, $a_2 = -(1 + m^2)$ and $a_4 = 1$, then the solution is
 $z_{14} = \operatorname{ns}(\xi, m) \equiv \frac{1}{\operatorname{sn}(\xi, m)}$
(49)

and

$$u_{14} = b_0 + b_2 z^2 = \frac{\omega - \delta k}{\alpha k} + \frac{4(\beta k^2 + \gamma l^2)(1 + m^2)}{\alpha} - \frac{12(\beta k^2 + \gamma l^2) ns^2(\xi, m)}{\alpha}$$
(50)

(15) If $a_0 = -m^2$, $a_2 = 2m^2 - 1$ and $a_4 = 1 - m^2$, then the solution is

$$z_{15} = \operatorname{nc}(\xi, m) \equiv \frac{1}{\operatorname{cn}(\xi, m)}$$
(51)

and

$$u_{15} = b_0 + b_2 z^2 = \frac{\omega - \delta k}{\alpha k} + \frac{4(\beta k^2 + \gamma l^2)(1 - 2m^2)}{\alpha} - \frac{12(\beta k^2 + \gamma l^2)(1 - m^2)\mathrm{nc}^2(\xi, m)}{\alpha}$$
(52)

(16) If $a_0 = -1$, $a_2 = 2-m^2$ and $a_4 = m^2 - 1$, then the solution is

$$z_{16} = \operatorname{nd}(\xi, m) \equiv \frac{1}{\operatorname{dn}(\xi, m)}$$
(53)

and

$$u_{16} = b_0 + b_2 z^2 = \frac{\omega - \delta k}{\alpha k} - \frac{4(\beta k^2 + \gamma l^2)(2 - m^2)}{\alpha} - \frac{12(\beta k^2 + \gamma l^2)(m^2 - 1)nd^2(\xi, m)}{\alpha}$$
(54)

(17) If $a_0 = 1$, $a_2 = 2-m^2$ and $a_4 = 1-m^2$, then the solution is $sn(\xi, m)$

$$z_{17} = \operatorname{sc}(\xi, m) \equiv \frac{\operatorname{sn}(\xi, m)}{\operatorname{cn}(\xi, m)}$$
(55)

and

$$u_{17} = b_0 + b_2 z^2 = \frac{\omega - \delta k}{\alpha k} - \frac{4(\beta k^2 + \gamma l^2)(2 - m^2)}{\alpha} - \frac{12(\beta k^2 + \gamma l^2)(1 - m^2)sc^2(\xi, m)}{\alpha}$$
(56)

(18) If $a_0 = 1$, $a_2 = 2m^2 - 1$ and $a_4 = (m^2 - 1)m^2$, then the solution is

$$z_{18} = \operatorname{sd}(\xi, m) \equiv \frac{\operatorname{sn}(\xi, m)}{\operatorname{dn}(\xi, m)}$$
(57)

and

$$u_{18} = b_0 + b_2 z^2 = \frac{\omega - \delta k}{\alpha k} + \frac{4(\beta k^2 + \gamma l^2)(1 - 2m^2)}{\alpha} - \frac{12(\beta k^2 + \gamma l^2)(m^2 - 1)m^2 \mathrm{sd}^2(\xi, m)}{\alpha}$$
(58)

(19) If
$$a_0 = 1 - m^2$$
, $a_2 = 2 - m^2$ and $a_4 = 1$, then the solution is
 $z_{19} = cs(\xi, m) \equiv \frac{cn(\xi, m)}{sn(\xi, m)}$
(59)

and

$$u_{19} = b_0 + b_2 z^2 = \frac{\omega - \delta k}{\alpha k} - \frac{4(\beta k^2 + \gamma l^2)(2 - m^2)}{\alpha} - \frac{12(\beta k^2 + \gamma l^2)cs^2(\xi, m)}{\alpha}$$
(60)

(20) If
$$a_0 = 1$$
, $a_2 = -(1 + m^2)$ and $a_4 = m^2$, then the solution is
 $z_{20} = \operatorname{cd}(\xi, m) \equiv \frac{\operatorname{cn}(\xi, m)}{\operatorname{dn}(\xi, m)}$
(61)

and

$$u_{20} = b_0 + b_2 z^2 = \frac{\omega - \delta k}{\alpha k} + \frac{4(\beta k^2 + \gamma l^2)(1 + m^2)}{\alpha} - \frac{12(\beta k^2 + \gamma l^2)m^2 cd^2(\xi, m)}{\alpha}$$
(62)

(21) If $a_0 = m^2(m^2-1)$, $a_2 = 2m^2-1$ and $a_4 = 1$, then the solution is

$$z_{21} = \mathrm{ds}(\xi, m) \equiv \frac{\mathrm{dn}(\xi, m)}{\mathrm{sn}(\xi, m)} \tag{63}$$

and

$$u_{21} = b_0 + b_2 z^2 = \frac{\omega - \delta k}{\alpha k} + \frac{4(\beta k^2 + \gamma l^2)(1 - 2m^2)}{\alpha} - \frac{12(\beta k^2 + \gamma l^2)ds^2(\xi, m)}{\alpha}$$
(64)

(22) If $a_0 = m^2$, $a_2 = -(1 + m^2)$ and $a_4 = 1$, then the solution is

$$z_{22} = \operatorname{dc}(\xi, m) \equiv \frac{\operatorname{dn}(\xi, m)}{\operatorname{cn}(\xi, m)}$$
(65)

and

$$u_{22} = b_0 + b_2 z^2 = \frac{\omega - \delta k}{\alpha k} + \frac{4(\beta k^2 + \gamma l^2)(1 + m^2)}{\alpha} - \frac{12(\beta k^2 + \gamma l^2)dc^2(\xi, m)}{\alpha}$$
(66)

It is known that when $m \to 1$, $\operatorname{sn}(\xi,m) \to \tanh\xi$, $\operatorname{cn}(\xi,m) \to \operatorname{sech}\xi$, $\operatorname{dn}(\xi,m) \to \operatorname{sech}\xi$ and when $m \to 0$, $\operatorname{sn}(\xi,m) \to \sin\xi$, $\operatorname{cn}(\xi,m) \to \cos\xi$. And among the Jacobi elliptic functions, Jacobi elliptic sine function, Jacobi elliptic cosine function and Jacobi elliptic function of the third kind are three basic ones, all other Jacobi elliptic functions can be expressed in terms of them. So we also can get more solutions expressed in terms of hyperbolic functions and trigonometric functions.

Remark 2. Some of the solutions given above are singular. Actually, These solutions are a kind of solutions dealing with "hot spots" or "blow-up" of solutions [13–16], which can develop singularity at a finite point.

3. Conclusion

In this paper, we consider elliptic equation as a transformation to solve ZK equations, and multiple structures of nonlinear Rossby waves are derived, including periodic solutions of rational forms, solitary wave solutions constructed in terms of hyperbolic functions of rational forms. And application of transformation (5) to nonlinear wave equations, some of the obtained solutions have not been obtained by the sine-cosine method [17], the homogeneous balance method [18], the hyperbolic function expansion method [8,19], the Jacobi elliptic function expansion method [20,21], the nonlinear transformation method [22–24], the trial function method [25,26] and so on. So there still exists the require for further studies of nonlinear model.

Acknowledgment

First of all, thanks for the suggestions and questions from the anonymous referee. And many thanks are also due to supports from National Natural Science Foundation of China (No.40305006), and from the Ministry of Science and Technology of China through special public welfare project under the grant 2002DIB20070.

References

- Gottwalld GA, The Zakharov-Kuznetsov equation as a two-dimenional model for nonlinear Rossby wave. arXiv: nlin, 0312009; 2003.
- [2] Iwasaki H, Toh S, Kawahara T. Phys D 1990;43:293.
- [3] Fu ZT, Liu SD, Liu SK. Commun Theor Phys 2003;39(5):531.
- [4] Fu ZT, Liu SK, Liu SD. Commun Theor Phys 2003;40(3):285.
- [5] Fu ZT, Chen Z, Liu SK, Liu SD. Commun Theor Phys 2004;41(5):675.
- [6] Fu ZT, Liu SD, Liu SK, Chen Z. Chaos, Solitons & Fractals 2004;22(2):335.
- [7] Liu SK, Liu SD. Nonlinear equations in physics. Beijing: Peking University Press; 2000.
- [8] Fan EG. Phys Lett A 2000;277:212.
- [9] Yan ZY, Zhang HQ. Phys Lett A 2001;285:355.
- [10] Bowman F. Introduction to elliptic functions with applications. London: Universities; 1959.
- [11] Prasolov V, Solovyev Y. Elliptic functions and elliptic integrals. Providence R.I.: American Mathematical Society; 1997.
- [12] Wang ZX, Guo DR. Special Functions. Singapore: World Scientific Publishing; 1989.
- [13] Clarkson PA, Mansfield EL. Phys D 1993;70:250.
- [14] Coleman CJ. J Aust Math Soc Ser B 1992;33:1.
- [15] Kudryashov NA, Zargaryan D. J Phys A 1996;29:8067.
- [16] Smyth NF. J Aust Math Soc Ser B 1992;33:403.
- [17] Yan CT. Phys Lett A 1996;224:77.
- [18] Wang ML. Phys Lett A 1995;199:169.

- [19] Parkes EJ, Duffy BR. Phys Lett A 1997;229:217.
- [20] Fu ZT, Liu SK, Liu SD, Zhao Q. Phys Lett A 2001;290:72.
- [21] Liu SK, Fu ZT, Liu SD, Zhao Q. Phys Lett A 2001;289:69.
- [22] Hirota R. J Math Phys 1973;14:810.
- [23] Kudryashov NA. Phys Lett A 1990;147:287.
- [24] Fu ZT, Liu SK, Liu SD. Phys Lett A 2002;299:507.
- [25] Liu SK, Fu ZT, Liu SD, Zhao Q. Appl Math Mech 2001;22:326.
- [26] Otwinowski M, Paul R, Laidlaw WG. Phys Lett A 1988;128:483.